[High Precision] Dovetail Slide, Feed Screw [High Precision] Dovetail Slide, Feed Screw
Hex Wrench Drive Extended Knob / Reinforced Clamp

WFeatures:Low profile (height 15mm ~) dovetail slide stages with feed screws.

llFeatures: Effective when feed knobs are difficult to tur due to the carriage mounted objects interfere, or when the knobs are hard to reach since the stage is deeply embedded inside a machine. Use adhesive to prevent the knob extension from pulling off.
_ Axi 25 36.5
BX-Axis XEG25 B2 B xie: extended Knob lex! XEGL25 o 1 o
(Lead 0.5mm) ET” u ' 5 S | 0 :
o : Sl £
@ B g oH }2l g
& SE <HiE} < FWBB6-70-E14-F6 o |
L& XY-Axis R1933 2 :\ P ) e C='P.1-205 KNB6-24 6:M2, Depth 5/ \2-M2, Depth 4 e Dep1;14 04.2 Counterbore, Depth 2.5
EEZ-Axis P1962 mm 6:M2,Depth 5,/ \2-M2,Depth 4 Fee ' EXY'A?“S e == P.HA-1165 ,
04.2 Counterbore, Depth 2.5 ESZ-Axis P1963 m
6 » XEGL40 2 35
XEG40 - 20 _ ‘ E XEG60 2 % 25 820 2.M3, Depth 4 16 16 |s Clamp (M2x3.5)
2 37 [ 105 — 20
2-M3, Depth 4 -
- 395 010 s %8
L . ‘ o G
a % = % Te ] 9|
o ﬁix‘ & -0 < I & + 9 e
2| 2 + ~ - © +
ol |, + ‘ AV £
s \ > o g & G] g] 6-M3, Depth 5 5-M2, Depth 5 ; N4-04.5 Through
8 WeDept 14 o B4, Depth 6/ \&M, Deptr s =| 2|0 coutervore, Deptn 45
6-M3 Depth 5 5-M2, Depth 4 <« & & _ a 7l a0n 5 hrougn Mo, Depth 14‘ S '
o -6 & 2 S 1
Feed Knob i — 045 ot t BT St 06 Counterbore, Depth 3.5 = (X0 Material: (Main Body) Low Cadmium Brass
— 2D Foed Knob 08 Counterbore, Depth 4.5 =] ‘_—.50 ‘ ‘QT (Feed Knob) Auminum
T - o ' ’ . 2:M3 Hex Socket Set Screw 2-M3 Hex Socket Set Screw © (B Srace Treatment: Biack Fluororesin Treatment
L O Material: (Main Body) Low Cadmium Brass -
— (Feed Knob) Aluminum - - -
B urface Treatment: Black Fiuororesin Treatment Part Number | Stage Surface | Travel Distance | Travel per Rotation | Load Capacity (N) | Travel Accuracy (um) | Moment Load Capacity (N - m) Paralelism Weight | Accessory (4 pes.) Unit Price
Type No. (mm) (mm) (mm) Horizontal | Vertical i P i Pitching | Yawing | Rolling (kg) | TypeM-L
(®)Standard Stages Similar Products: XFES (P.1896) 25 25x25 +5 204 98 2.0 1.5 1.3 0.1 SCB2-8
Part Number _|Stage Surface | TarDistrce | Travel per |Load Capacity (N) | Travel Accuracy (uim) | Moment Load Capacity (N-m) |, . . |Weight| _Accessory G XEGL 40 40x40 *7 0.5 i i 30 30 4.0 3.0 3.0 40pm | 0.2 SCB3-6
Type No. | (mm) (mm) | Rotation (mm) | Horizontal | Vertical | Straigh Parallelism | Pitching | Yawing | Rolling (kg) | Type M-L | Quantity 60 60x60 +9 39.2 19.6 5.0 4.0 4.0 0.5 SCB4-6
25 25x25 +5 294 98 2.0 15 13 0.07 SCB2-8 ﬁ ion (Vernier Scale Indication): 0.1Tmmv/divisi
XEG 40 40x40 +7 05 g : 30 30 4.0 3.0 3.0 40pm | 0.19 SCB3-6 4 (®Extension Cover HDEXT12 (Sold Separately): @12 feed screw knob can be extended. &5 P2004 Alteration|Cl Position Ch: Right/Left R dl
60 60X60 +9 39.2 196 5.0 40 40 0.60 SCB4-6 (DXY-Axis Mounting Plate XPLTE: Use this plate when connecting stages with non-matching mounting holes. £ 1915 Sroon L amp Toston ﬂge_fn_llg_ eft Reversed)
(Resolution (Vernier Scale Indication): 0.1mmydivision Ordering ) - R
(®Extension Cover HDEXT12 (Sold Separately): @12 feed screw knob can be extended. 55° P2004 ‘Alteration [Clamp Position Chanae (Right/Left Reverse Example  XEGL60 Aeratons XEGL6O - R Spec. E::@
(®XY-Axis Mounting Plate XPLTE: Use this plate when connecting stages with non-matching mounting holes. & R1915
2 N [£2] |Part Number|- (R) a.
reypie el ST e -
Pec. EIE (®See the CAD data for details.
Sode = llFeatures: The feed knob shaft is clamped directly for improved position holding performance of the stage.
_ - Axi q Reinforced Clamp (SBC4-10)
(®See the CAD data for details. .)E l-\é(;Jsé Reinforced Clamp XEGCL25 5 o Rentorced Gang S0
{tead 0.5mm) 101010 11| Reinforced Clamp
HF :No knob is required since a hex wrench is used to feed the stage, making for a space saving form factor. Uni position changes can be prevented since the stage cannot be operated without a hex wrench. b 15 | 1L @.r L] Clamp (M2x3.5)
. . | Hex Wi h Socket Hex Wrench Hole Details | —
lX-Axis, Hex Wrench Drive XEEG25 &M2Depthd, B B (Arow Viewa) BEN gl =
(Lead 0.5mm) == =2 En q
r1e ¢ el 6-M2, Depth 2-M2, Depth 4 7, 4:-02.5 Through
Q SL o i - * 04.2 Counterbore, Depth 2.5
Q to- —@—aff))--a =S| Feed Knob
E’ _ | 3 ) (®There will be residual clearances with .
e /¢ %]d EEXY-Axis 1934 carriage retaining only with a Reinforced mL w1
TSR Mo, Depin a5/ | 51 UEZ-Axs P1963 [TS0] | Clamp. Use a Clamp Screw in combination. = st
DEZ-Axs P1962 [RoHS 10} Fp— o =
- = XEGCL40 o 2 Reinforced Clamp (SBC4-10) XEGCL60 Reinforced Clamp (SCB4-12)
13 115 Camp I —
oo it 6 16 |17 15 Clamp 60 345_, / Reifoced Camp 13.
HH T e l 2:M3, Depth 4 ] 11| Reinforced Clamp % 5 2 eACeLEEny
T == =55 Clamp__[105
\ 20 ‘\M 'LG-H-, Clamp (M2x3.5) o % 532 75 ‘
XEEG40 XEEG60 33, Depth 3 = o 107, Camp ()
8-M3. Depth 5 40 4 HexWrench Socket 60 5 Lex Wrench Socket )
\ S 9-M4, Depth 5 | ——25. 2 o o —F @ |
16|16, | & 31 o S I
= _ o 18 oo 2
o — e 3 g © m4F° M ‘“I
A - i 5 4-03.5 Through I
o U < 06 Counterbore, Depth 3.5 <_4-04.5 Through
N ml NN o Feed Knob 7 08 Counterbore, Depth 4.5
= g @ =
) ) 1] o o] —T (0 Material: (Main Body) Low Cadmium Brass
?et:t’:}?ii:(ﬂ: Iunsézeas & & * [ % T (Feed Knab) Aluminum
a clamp by using an Mpth_5/ ﬁ/ @ sl [ Surface Treatment: Black Fluororesin Treatment
included hex socket set Clamp (3" 8 4-M3, Depth 5
screw. Other tapped holes N Clamp (M3)* . Part Number | Stage Surface [TravelDistance|  Travel per Load Capacity (N) | Travel Accuracy (um) | Moment Load Capacity (N m) Parallelism Weight | Accessory (4 pes.) Unit Price
on the side are for factory To—86 = ‘ =S [0 Materal: Type No. (mm) (mm) | Rotation (mm) |Horizontal | Vertical I F ism | Pitching | Yawing | Rolling (kg) | TypeM-L
preload adjustments and ni I TS 1k -3 ST (Main Body) Low Cadmium Brass 25 25x25 +5 - - 2.0 1.5 1.3 0.08 | SCB2-8
sealed, thus cannot be ‘ 3‘2 N 033066 '1 | '1 i (Hex wrench operating section) Aluminum XEGCL | 40 40x40 +7 0.5 i i 30 30 4.0 3.0 3.0 40pm | 0.20 SCB3-6
used. s o 4206 Counetbor \ 50 \ B Suace Treatment 60 | 6060 +9 392 | 196 50 | 40 | 40 0.50 | SCB4-6
' Deptn S Black Fluororesin Treatment (®Resolution (Vernier Scale Indication): 0.1mm/division
o = 5 - - (®Extension Cover HDEXT12 (Sold Separately): @12 feed screw knob can be extended. E5° P2004 ‘Alterati m T
P%r;:lumb(;ro sta%ren S'L::;ace rm\,(erwﬁa)m . t;rt?é,::‘ '():nrm ) h::; n(:aal ‘alzm ((::z ;{a\'lel Accuracy (l{m) m;’xlen“; L°$:vz:ga°";g:"n";) Parallelism W(ilg’h‘l Ty‘;:;efso%a ity Unit Price (®)XY-Axis Mounting Plate XPLTE: Use this plate when connecting stages with non-matching mounting holes. 5" P1915 eration (Clamp Position Change (Right/Left Reversed)
. Par -
25 | 255 | =3 o4 | o8 20 | 15 13 0.06| SCB28 | 3 Ordering Alerations - ®
XEEG [ 40 | 40x40 | =5 05 : : 30 80 40 | 30 | 30 | soum [022| SCB36 | , Example  XEGCL40 GoLe0 - Spec.
60 60x60 +7 39.2 19.6 5.0 4.0 4.0 0.52 SCB4-6
(®Resolution (Vernier Scale Indication): 0.1mm/division (XEEG has no vernier scale)
(®Extension Cover HDEXT12 (Sold Separately): @12 feed screw knob can be extended. 55° P2004 Code R
(®XY-Axis Mounting Plate XPLTE: Use this plate when connecting stages with non-matching mounting holes. =&° P1915

__ (®)See the CAD data for details.
n 1897 @Ordering e, (®Reinforced Clamp position will not change when an alteration R is specified.

Example  XEEG60

El-1898



